RIRE 1SR

IEES 21 5
AfLSMENEE (EE2XE) RUALBR-E
1 T + % RISHBEYRRIE
2 I = 15 T ERETFEZR
3 I = i A ER
4 T % B 2 ERURIE
5 A#HrE (82) B S 5 & 17 A 11 A
6 A # #® 7 B B S 5 &£ 7 A 250 H T 1 B 00 %
17 ¥ E i % 19, 624, 000 M
8 A # Kk B @ ®% 17, 840, 000 M
9 &= & @& R @ B - H
#  EBEAALGBEBEEEMGE (B 16, 108, 700 M
AR -
A £ 8| AW £ B | AL £

A O R 17, 480, 000
+E&KRMER 17, 440, 000
(B4 K44 17, 420, 000
() ) - L 2 17, 390, 000 AL (97.48%)

. K& |KkAs#t FTFEEX AKRIER FEH—

T | RRTFHET2E M2
2 S 19, 129, 000 M
T H AL S 5 & 7 B 26 B~ =R ¥ 5 & 11 B 30 A




RIRE 1SR

IEES 22 =5
ALSME®RE FEEEE) RUVALBR—E
1 I = £ I2RERABEEEIS
2 I = 15 T EFREFEE
3 I = i Al XK
4 T = 1 2 REEEIE
5 A& (4£) 8B $f 5 & 7 A 11 H
6 A # #® 47 B B ®M 5 &£ 7 A 25 H F® 1 B 00 %
17 F E i % 9, 625, 000 M
8 A # Kk B @ ®% 8, 750, 000 M
9 &= & @& R @ B - H
BB AL I A (R R 7,898,000 M
AHKER -
lﬁ;}é]uf%@%;% # 1 H =20 % B (h v ARIEEALE)
AW £ 8| AL £ 8| AL & &8
AHOKRME 8, 650, 000
+ERMH 8, 630, 000
(B T+ K #4 8, 580, 000 FEFL  (98.06%)
(R F) T B 5 8, 600, 000
- K& |AR=# ‘ARAHM KRIREE ZHEE
XA [EFEETRISEIT B 168 #160
2 S 9, 438, 000 M
I # AL ®f¥M 5 & 7 B 26 BH~%% S#M 5 # 11 A 30 H




RIRE 1SR

IEES 23 =5
ALSME®RE FEEEE) RUVALBR—E
1 T = &  MRERSERRIE
2 I 4 15 T ERFETFBLE
3 I = i Al XK
4 I = 1 E ERHERRIE
5 A& (4£) 8B $f 5 & 7 A 11 H
6 A # #® 47 B B ®M 5 &£ 7 A 25 H F® 1 B 00 %
7 ¥ E i 1% 6,490,000
8 A At B @ % 5,900,000
9 &= & @& R @ B - H
BB AL I A (R R 5,270,800 M
ARLEER -
)\ﬁéﬁéﬂféﬁj% # 1 H =20 % B (h v ARIGERLE)
A K & % A & A o= &
(9 LLI U 4R 5, 780, 000 L (97.97%)
JtiEsEE 5, 800, 000
(8 L 885E 5,810, 000
- K& |BX&# LG8 KERMFEEREE LE B—
T |ZRETFRASAAT BT7H
LS 6,358,000
I # AL ®f¥M 5 & 7 B 26 BH~%% S#M 5 # 11 A 30 H




RIEEE 151K

IEES 24

Jo

ABMERE (RREE) RUALBR—%

1 T E2 & BYLSRFMLEMBBEIS
2 T e 15 T EFRETFILE
3 I = iE Al XK
4 I = 1 E ZBBEBgHIE
5 A#aE (B4) B S 5 &£ 7 A 11 H
6 A # ® 7T B B M 5 & 1 B 26 H & 1 B 00 %
7 % E i % 13,640,000 M
8 A # H ® 12,400,000 M
9 &= & @& R @ B - H
B AL T A (B R) 10,976,600 M
AFL#ER -
)\ﬁéﬁéﬂféﬁj% # 1 H =20 = 5 CPELEETES
A o= & A o= & A o= &

(L 4R 12, 000, 000 HEFL  (96.77%)
HORME 12, 180, 000
+ 8RR 12,100, 000
(B)FE A AR HE 12, 150, 000
(FEIRSES 12, 150, 000

- K& |BX&# LG8 KEm#F®RERE LG B

T |ZRETFRASAAT BT7H
Sk ] 13,200,000 M
T H EBEL «fM 5 & 7 B 26 B~ %A S 5 &£ 12 A 15 H




RIRE 1SR

IEES 25

Jjn

ABMERE (RREE) RUALBR—%

% % AKMRETEMEKISE
% 5 T RIRETFIAKA83E M
= 1# i/ 7 3 b S

—_

= % 2 HAMEKISE
flasd (%) B M 5 & 7 A 11 H
i B 7T B B ® M 5 & 17 A 25 H & 1 B 00 &
E 1 % 3, 630, 000
o B @ B 3, 300, 000
= & & R @ % —
16 A AL i 4% 58 & 2 2 il 48 (B k) —

H © o w o g B~ W N
S > > H H H H

M
M
M
M

AR -
Niezze) | F 1@ [ ®m2m | ® o
A & A g & A & &
BHORME 3,210, 000 EHL O (97.27%)
TERME 3, 250, 000
BREEX 3,270, 000

LN BHF M S KRR 3, 260, 000

K& |A0A#M #Hks AKRIDER 20 XRZ

fEFT |EIFRETERO6SILTT B293%F

R4 3,531,000 =

I # AL WM 5 & 7 A 25 A~ ®#M 5 &£ 10 A 27 H

EILERE




RIEEE 151K

Jjn

IEES 26
AHSIERE BEXEE) RUALGR—E
1 I = % HFKEEBELUA—BREERFREHIS
2 I = 15 T ERETFHE25FE M 1#h %k
3 I =23 & Al BEWERE
4 I -3 il E EBRHmaEXRIs
5 AN E (854£) B £ 5 & 7 A 11 H
6 A L B T B B S 5 & 7 B 25 H F%& 1 B 00 &
7 % E i % 10, 692, 000 o]
8 A ¥ H B i % 9, 720, 000 o]
9 & E ® B @ % - M
o EAAEEEE LS (B R 8,721, 980 M
AFRLKER -
e 1 [a] 2 [E 3 [
(FBREER) CPELIEs kS
A £ # A £ #E A & #E
King T o=F1]2T o
L A I Bl
WEI)IA B 9, 530, 000
AT IZHET #R
WTF—4a R—R 9, 000, 000 AL (92.59%)
K& |%k&stt T—4%~R—X REE#HE®R KFx BEsh
EALEE
FFr |FLRTAEXALTEAEST B8ESS
L& 9, 900, 000 as]
I # FET 4#M 5 & 1 A 2 B~k £ 6 & 3 B 8 H




RIEEE 151K

ABMERE (RREE) RUALBR—%

IEES 217

Jo

1 I = % BIRNBKSERRFEFREIS
2 I = 15 AT RIEETFIRIE189F 2t
3 I = & Al HEWERE
4 I = 1 B HHEEEEIS
5 AflaE (84%2) 8B €M 5 & 7 A 11 H
6 A # ® 7T B B M 5 & 1 B 26 H & 1 B 00 %
7 ¥ E i % 3,058,000 M
8 A # K B E % 2,780,000 M
9 & & # B E #% - A
B 1E AL I A M K (B IR) - A
AFL#ER -
lﬁ;}gu%ﬁ%@%;% # 1 o # 2 H 3 0 (h v aRNIFEFLE)
A K & % A & A £
ki s
WERI)IA MK 2,720,000 AL (97.84%)
AT IZHTHE IR
WT—2N—2 2,770, 000
K& [HFR7UIA4+ #HAst KEIWHE KE —F
EALEE
T LR ERII2EFEIST B4B1S
L& 2,992,000 H
I # BFL M 5 & 7 A 256 H~Xft $f 6 & 2 A 29 H




RIEEE 151K

IEES 28 =5
ALSME®RE FEEEE) RUVALBR—E
1 I 2 % HISERSAHRAEBERFEIS
2 I = 15 T ERFETFBLE
3 I = i Al XK
4 T = 1 2 REEEIE
5 A& (4£) 8B $f 5 & 7 A 11 H
6 A # #® 47 B B ®M 5 &£ 7 A 25 H F® 1 B 30 &
17 F E i % 3, 696, 000 !
8 A # H B @ & 3, 360, 000 M
9 &= & @& R @ B - H
BB AL I A (R R - H
AHKER -
lﬁ;}é]uf%@%;% # 1 H =20 % B (h v ARIEEALE)
AW £ 8| AL £ 8| AL & &8
WA LTHEE 3, 280, 000
w/INERER 3, 300, 000
HWEBFIHE 3, 300, 000
B ILBE B Rk iR 3,320, 000
I — B 5 6) 3, 250, 000 &AL (96.73%)
K& |IL—ExE =t KEIfFEREE LG B—
EAEE
XA [EFRETFRASIAT BT1E M
2 S 3,575, 000 M
T H EL S 5 & 7 B 25 B ~ ERK ¥ 5 & 11 B 30 A




RIEEE 151K

IEES 29

Jo

ABMERE (RREE) RUALBR—%

1 T %= % EARKFZEFRHEEIE
2 I = 15 o ETR—HM
3 I = i Al XK
4 T S 1 B SRRFEEEEIE
5 A#f2E (£) 8B €% 5 & 7 A 11
6 A # ® 7T B B M 5 & 1 B 26 H 1T B 30 %
7 % E i 1% 3,883,000 M
8 A At B @ % 3,530,000 M
9 &= & @& R @ B - H
B AL T A (B R) - H
ARLEER -
)\ﬁéﬁé]ﬂféﬁjﬁ # 1 H =20 (h v ARIGERLE)
A K & % A & A o= &
B ATHIE 3, 400, 000 AL (96.32%)
@®IhEEE 3,470,000
WEBHILHEE 3, 500, 000
(B L BE BB AR 1 3, 490, 000
L — B ) 3, 450, 000
K& |ARs4t WMAIHBE KRIWHE BE RiT
EALEE
¥ |RERBETAEIERALST B35
LS 3,740,000 M
I # EL HfM 5 & 71 B 25 B~%Kk $™ 5 &£ 11 B 30 H




RIS 1 St

IEES 30

Jjn

ABMERE (RREE) RUALBR—%

% % BEMERBRIE
% 5 At RRETFAEET39E M
= 1# Al xR

—_

= % E ERWRRIFE
flasd (%) B M 5 & 7 A 11 H
i B 7T B B ® M 5 & 17 A 25 H & 1 B 30 &
E 1 % 4, 884, 000
o B @ B 4, 440, 000
= & & R @ % —
16 A AL i 4% 58 & 2 2 il 48 (B k) —

H © o w o g B~ W N
S > > H H H H

M
M
M
M

AR

AL mMERES . o — ME
s % 1 [ % 2 [= % 3 [=
maxE®) (v ARIFFELE)

A K & % A & A £
B ATHIE 4, 300, 000 %L (96.85%)
@®IhEEE 4,370, 000
WEBHILHEE 4, 400, 000
(B L BE BB AR 1 4,410, 000
L — B ) 4, 350, 000

K& |AR=# WRAIHE - AKRDWEER Bk RT

EFT |ZRETFE1SmEST BH37&E M

ZHIEEE 4,730, 000 M

I # EL %M 5 & 7 A 25 B~ WM 5 &£ 12 B 8 H

EILERE




RIEEE 151K

IEES 31

AHLSMENRE FEEXE) RUALGER—

® £ B
A
= @ 3 as

—_

EEBEIS
wmIEE/ITHIEN BHRA—H

ES 1 =

fLasE (8 4) B

i # 7 B B €M 5 & A 26 H F& 1 B 30 %
E 1 1%

ot & @

= & @& R O &% —

4,250, 400

H © o w o g B~ W N
S > > H H H H

16 A AL i 4% 58 & 2 2 il 48 (B k)

Jo

AR -
ASNMEKRESL . o .
& g 1 [° g 2 [ ]

(FBREER) CPELIEs kS

A W £ #FE A K £ #FE

| EREX

4,580, 000

WEBHIHE

4,530, 000

AL (98.05%)

EATHEE

4,550, 000

EEFEE

4,570, 000

EILERE

K4

“hAet EHFIHE

RREHR

EF/Rr

KRBT 7 2 R553F ih

RiEER

4,983, 000 !

T #

s 5 & 7 A 25 H~ ®EMK

£ 10 B 31 H




RIRE 1SR

—_

> % > > H H H H

HX

H © o w4 o g b~ w N

flasds (8 %)

16 A AL i 4% 58 & 2 2 il 48 (B k) 4,413,965

IEES 32

Jjn

ABMERE (RREE) RUALBR—%

= £ F4-5332=T4tUE—EBLEK- BEORBREEEFISE

E 2 15 At ERETFRIZISTH

4 & Al EE

= 1 E  RBEK-HEOBRRHEEIS

B «#M 5 &£ 71 A 11 H

L 8 7T B B ®M 5 & 1 B 25 H F& 1 B 30 %
E i & 5, 280, 000

Lo B 4 4, 800, 000

M
M
® & | @ % - H
M

AHBSMERES P =
(52 %ER) =

AR

(] g 2 [E g 3 M
A & A g & A & &

(v aNIFHELE)

| EREX

4,780, 000

HE LI

& 4,710, 000 AL (98.13%)

BEIA T

& 4,780, 000

EEFEE

4,750, 000

EILERE

K& |zt EFIHE KRR E% BE
ErT [RERETFRIRO53FH

&R 5,181, 000 M

T A AL ©™M 5 & 7 B 26 H~%B ™M 5 &# 10 A 31 A




RIEEE 151K

IEES 33 =5
ALSME®RE FEEEE) RUVALBR—E
1 T 2 £ ERHEBLUI—ERNEIEIS
2 I = 5 T EFRETFER302%E
3 I * 1 A B
4 I = B 2 EBROAEBREIE
5 A& (4£) 8B $f 5 & 7 A 11 H
6 A # #® 47 B B ®M 5 &£ 7 A 25 H F® 1 B 30 &
17 F E i % 4,972,000 !
8 A # H B @ & 4,520, 000 !
9 &= & @& R @ B - H
BB AL I A (R R - H
AHKER -
)\ﬁéﬁéﬂféﬁj% # 1 H =20 = 5 (h v ARIGERLE)
A K & % A & A o= &
MWEBHIHE 4, 400, 000
EA TS 4, 440, 000
BETEE 4, 380, 000 EHL (96.90%)
K& |AR=#t EHEE AKKIHE BHF ES
EAEE
T |ZRETFHROSIL6T B4FH i
2 S 4,818, 000 M
T H EL S 5 & 7 B 25 B ~ ERK ¥ 5 &£ 10 B 31 A




RIEEE 151K

IEES 34 =5
ALSME®RE FEEEE) RUVALBR—E
1 I 2 £ BEANMBVWRT—IarvBEIE
2 I = 5 i EFETFXREIL1TH
3 I * 1 A B
4 I = 1 B AALH—Ry FRESERIETSE
5 A& (4£) 8B $f 5 & 7 A 11 H
6 A # #® 47 B B ®M 5 &£ 7 A 25 H F® 1 B 30 &
17 F E i % 1,144,000 M
8 A # Kk B @ ®% 1, 040, 000 M
9 &= & @& R @ B - H
BB AL I A (R R - H
AHKER -
lﬁ;}émf%%j% # 1 H =20 = 5 (h v ARIGERLE)
A K & % A & A o= &
MWEBHIHE 1,010, 000
EA TS 1,020, 000
BETEE 1, 000, 000 L (96.15%)
- K& |AR=#t EHEE AKKIHE BHF ES
T |ZRETFHROSIL6T B4FH i
2 S 1,100, 000 M
T H EL S 5 & 7 B 25 B ~ ERK S 5 & 9 A 29 H




RIEEE 151K

IEES 3 =5
ALSME®RE FEEEE) RUVALBR—E
1 I % £ UVANEBERAEZRVGHELUIYEREIS
2 I 4 15 T EFRETFREERN
3 I * 1 A B
4 T S 1 B AEREVSELUYREIS
5 A#aE (B4) B S 5 &£ 7 A 11 H
6 A # #® 47 B B ®M 5 &£ 7 A 25 H F® 1 B 30 &
7 % E i 1% 4,213,000 M
8 A At B @ % 3,830,000 M
9 &= & @& R @ B - H
B AL T A (B R) - H
ARLEER -
)\ﬁéﬁéﬂféﬁj% # 1 H =20 % B (h v ARIGERLE)
A K & % A & A o= &
MWEBHIHE 3, 750, 000
BMATHEE 3,700, 000 %A (96.61%)
BEHEE 3, 800, 000
K& |ARs4t WMAIHBE KRIWHE BE RiT
EAEE
¥ |RERBETAEIERALST B35
LS 4,070,000
I # L HfM 5 & 71 B 25 B~%Kk $™ 6 &£ 3 A 15 H




RIEEE 151K

Jjn

IEES 36
ALSME®RE FEEEE) RUVALBR—E
1 I 2 %  HEEEWHEBEIE
2 I = 15 T RFRETFCFEM215F M - 249F
3 I * 1 A B
4 I = 1 B EBiR. NLa=—H#HEIs
5 A& (4£) 8B $f 5 & 7 A 11 H
6 A # #® 47 B B ®M 5 &£ 7 A 25 H F® 1 B 30 &
17 F E i % 1,793, 000 !
8 A # Kk B @ ®% 1,630, 000 M
9 &= & @& R @ B - H
BB AL I A (R R - H
AHKER -
lﬁ;}é]uf%@%;% # 1 H =20 % B (h v ARIGERLE)
AW £ 8| AL £ 8| AL & &8
MWEBHIHE 1,590, 000
BA TN 1,580, 000
BETEE 1,560, 000 EAL (95.71%)
K& [BR=#t EHEE ARDBE BF ES
EAEE
XA [EEETFROGI6T BAE
2 S 1,716, 000 M
T H EL S 5 & 7 B 25 B ~ ERK S 5 & 9 A 29 H




RIRE 1SR

IEES 37

Jjn

ABMERE (RREE) RUALBR—%

= % EREERSIETIE
% 5 BT EFRETE2EEITH
= i A EE

—_

= % B HKGEEET=R
flasd (%) B M 5 & 7 A 11 H
i B 7T B B ® M 5 & 17 A 25 H & 1 B 30 &
E 1 % 4,994, 000
o B @ B 4, 540, 000
= & & R @ % —
16 A AL i 4% 58 & 2 2 il 48 (B k) —

H © o w o g B~ W N
S > > H H H H

M
M
M
M

AR -
ASNMEKRESL . o .
& g 1 [° g 2 [ ]

(FBREER) CPELIEs kS

A W £ #FE A K £ #FE A K £ #E

BEFITHEE 4,470, 000
BRI EB 4, 400, 000 ZAL  (96.92%)

K& (BIIZEE Bl #=

X |RRETER25E T B16% #1116

&R 4, 840, 000 =

T A AL ™M 5 & 7 B 26 H~%B ™M 5 & 10 A 31 A

EILERE




RIEEE 151K

ABMERE (RREE) RUALBR—%

1 E % % HREZKEEKEFHFIEERRITES
2 % % 1% r EFEETFEFER264F M1 (T H
3 AflasE (B84) B <% 5 & 7 A 11 A
4 AN # #® 4T B B S 5 & 17 A 25 H F% 1 B 00 %
5 F T i 1% 6,369,000
6 A A kB E % 5,790,000
AFLEER
MR % 1 m % 2 @ % 3 @m e
A £ E A £ E A £ E
B KD AL EE R AR 5, 700, 000
A AR 5, 450, 000 R (94.13%)
iR R A ZEHa VYL 5, 680, 000
BN J S ALIRE TSR 5, 700, 000
i rE—a> 5, 600, 000
- K& |[EBXRHZIHT #H#A=u KE&EfFEERE Bl 2=
T [ALRTT R RRXKEFE2DT B4E185
DS 5,995,000
RTHARE S 5 & 7 A 25 H ~ £ 6 & 2 A 29 H




